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vishveshvariah technological university

department of medical electronics


[ML6L4]

digital electronics and microprossers lab question bank

1. a). Conduct a suitable experiment to verify the truth table of rs and jk flip – flop (constructed by nand gates only).

b). convert a jk flip – flop into a d flip – flop.

2. a). Conduct a suitable experiment to verify the truth table of a jk master - slave flip – flop using nand gates only.
b). Convert this into a mod 2 counter.

3. a). Conduct a suitable experiment to perform the following operations using ic [7495/7496] siso, piso, sipo, pipo.
b). Using the same chip convert the circuit as a ring counter/twisted ring counter.

4. Using 7493 IC chip design a modulus `N` counter (N will be specified by the examiner) and an experiment to verify the same.

5. Write a program to move a data block starting at loc x (to be specified by the examiner) with/without overlap the loc X, Y as well as the block length as specified at suitable memory locations.
6. Write a program to add 2 multibyte binary numbers stored at loc x and loc y and store the result at loc z and display the same in data/address field.

7. Write a program to add 2 digit bcd numbers and store the result at loc x and display the same in data/address field.

8. Write a program to add N one multibyte numbers stored at loc x +1 and n is stored at loc X. Store the result in loc y and loc y+1.  Display the same in data/address field.

9. Write a program to subtract 16 bit numbers stored at loc x and loc x+1 from an another 16 bit number from loc y.
10. Two unsigned binary numbers are stored at loc x and loc x+1 .Find the product and store the result in location x+2 and x+3 (if any carry is there). Display the same in address field.
11. Divide a 16 bit number at loc x and x+1 by 8 bit number at loc Y; display the quotient in address field and the remainder in data field.
12. Write a program to check whether a byte stored at loc x belongs to 2 out of 5 code. Display ff if it is 2 out of 5 code otherwise 00 in the data field. 
13. Write a program to convert a binary number stored at loc x to its bcd equivalent & display in the data field.

14. Write a program to convert a BCD number stored at loc x to its binary equivalent & display in the data field.

15. Write a program to convert an ASCII number stored at loc x to its binary equivalent & display in the data field.
16. Write a program to convert a binary number stored at loc x to its ASCII equivalent & display in the data field.
17. Write a program to simulate throw of a dice using interrupts
.

18. Write a program to generate a triangular wave using dac & display the waveform on the cro, measure the slope.
19. Write a program to generate a square wave of a given duty cycle using dac. Display the same on cro & verify the same.
20. Write a program to implement a moving display of a given string of digits on a display interface with a suitable delay.
21. Write a program to interface a 4*4 keyboard and display the code of key pressed.
22. Write a program to evaluate a 3 variable multiple Boolean expression using logical controller interface (the expression to be given by the examiner).

Index
1. TO MOVE a data block from one location to ANOTHER.
2. addition of 2 multi byte binary numbers.

3. addition of 2 bcd numbers.
4. addition of n one byte binary numbers.

5. subtraction of 16 bit numbers.

6. multiplication of 2 unsignged numbers

7. division of 16 bit numbers.

8. to check 2 out of 5 CODE.
9. conversion of binary to bcd equivalent.

10. conversion of bcd to binary equivalent.

11. conversion from ascii to binary equivalent.

12. conversion from BINARY TO ascii equivalent.

13. generation of triangular wave.

14. geration of square wave.
15. simulation of throw of a dice.
16. implementation of moving display OF A given display.

17. interfacing of a 4*4 keyboard matrix and display the code of key pressed.

18. evaluation of 3 variable multiple Boolean expression using logic gate controller interface.

1. a) Write a program to move a data block starting at loc x (to be specified by the examiner) without overlap the loc X, Y as well as the block length as specified at suitable memory locations.
solution:




comments
lda 8900h 

Load accumulator direct 
mov c, A 

Move contents of register A to C 
lhld 8901h

Load H and L registers direct 
xchg


Exchange H and L with D and E 
lhld 8903h

Load H and L registers direct 
loop 

mov a, M

Copy from M to A 
stax d

Store accumulator direct 
inx h


Increment register pair by HL by 1
inx d


Increment registers pair by HL by 1
dcr c


Decrement register C by 1
jnz loop

Jump on no zero to loop
rst 5


Restart
INPUTs:


comments
	8900
	03

	8901
	50

	8902
	88

	8903
	70

	8904
	88




Block length



LOC y




LOC X

LOC X

	8870
	01

	8871
	02

	8872
	03


LOC Y

	8850
	xx

	8851
	xx

	8852
	xx


OUTput:

	8850
	01

	8851
	02

	8852
	03


1. b) Write a program to move a data block starting at loc x (to be specified by the examiner) with overlap the loc X, Y as well as the block length as specified at suitable memory locations
solutions:






comments
lhld 8A00h

Load HL pair with contents of 8A00.
LDA 8B00H

Load accumulator with contents of 8B00.

mov c, a

Move contents of A to C.

dcr c


Decrement contents of register C.

mvi B 00h

Move immediately 00 to register b.

dad b


Add contents of HL with BC.

xchg


Exchange contents of HL with DE pair..
lhld 8a02h

Load HL register with contents of 8A02.

dad b


Add contents of HL with BC.

inr c


Increment the contents of c register.

loop

move a, m

Move contents of memory to accumulator.

stax d

Store accumulator indirect.

Dcx h


Decrement contents of register H.

dcx d


Decrement contents of register D.

dcr c


Decrement contents of register C.

jnz loop

Jump on no zero to loop.

rst 5


Restart.

input:








output:
	8b00
	05



	8a00
	52
	         LOC Y (D)


        LOC X (S)
	8850
	01
	
	8852
	01

	8a01
	88
	
	8851
	02
	
	8853
	02

	8a02
	50
	
	8852
	03
	
	8854
	03

	8a03
	88
	
	8853
	04
	
	8855
	04

	
	
	
	8854
	05
	
	8856
	05

	
	
	
	8855
	xx
	
	
	


2. Write a program to add 2 multibyte binary numbers stored at loc x and loc y and store the result at loc z and display the same in data/address field.

solutions:

xra a


Exclusive OR with accumulator.

lxi d 8860h

load DE pair with 8860 immediately.
lxi h 8960h

load HL pair with 8960 immediately.
lxi b 8A60h

load BC register pair with immediately.
mvi a 04h

move 04 to accumulator immediately.
back

sta 8C00H

store accumulator direct.
ldax d

load accumulator indirect.
adc m

add register to accumulator with carry.
stax b

store accumulator indirect.

inx d


increment DE pair by 1.
inx H


increment HL pair by 1.
inx b


increment BC pair by 1.
lda 8c00h

load accumulator direct.
dcr a


decrement source by 1.
jnz back

jump on no zero.
adc a


add register to accumulator with carry.
stax b

store accumulator indirect.
call disp

unconditional subroutine call.
hlt


halt.
disp

mvi b 05h

move immediately 8-bit.
lxi h 8a60h

load HL pair immediately.
next

push b

push register pair BC onto stack.

push H

push register pair HL onto stack.
mov a, m

copy M to A.

sta 8ff1h

store accumulator direct.
shld 8fefh

store H & l register direct.
call 044ch

 unconditional subroutine call.
call 0440h

unconditional subroutine call.
call delay

unconditional subroutine call.
pop h


pop off stack to register pair HL.
pop b


pop off stack to register pair HL.
inx h


increment HL pair by 1.
dcr b


decrement source by 1.

jnz next

jump on no zero.
ret


Return from subroutine call unconditionally.
delay
mvi b 03h

Move immediate 8 – bit.
l2

lxi d ffffh

load DE pair immediately.

l1

dcx d


decrement DE pair by 1.
move a, d

copy from D to A.
ora e


logically OR with accumulator.
jnz l1


jump on non zero to L1.
dcr b


decrement source by 1.
jnz l2


jump on non zero to L1.
ret


return from subroutine unconditionally.
INPUT:







OUTPUT:
LOC X: I MULTIBYTE NO.
    LOC Y: II MULTIBYTE NO.


	8860
	ee
	
	8960
	6f
	
	8a60
	5d

	8861
	77
	
	8961
	d0
	
	8a61
	78

	8862
	56
	
	8962
	50
	
	8a62
	a6

	8863
	48
	
	8963
	e0
	
	8a63
	28

	
	
	
	
	
	
	8a64
	01


3. Write a program to add 2 digit (8 - bit) bcd numbers and store the result at loc x and display the same in data/address field.

solutions:
lda 8900h

load accumulator direct.
mov b, a

copy contents of A to B.
lxi h 8901h

load HL pair directly.
mvi a 00h

move immediately 8 – bit.
mov c, a

copy contents of A to C.
l2

add m

add register to accumulator.
daa


decimal adjust accumulator.
jnc l1

jump on non carry to L1.
mov D, A

copy from A to D.
mov A, C

copy from C to a.
adi 01h

add to immediate to accumulator.
daa


decimal adjust accumulator.
mov C, A

copy from A to C.
mov a, D

copy from D to A
l1

inx h


increment HL pair by 1.
dcr b


decrement source by 1.
jnz
l2

jump on non zero to l2.
sta 8fefh

store accumulator direct.
mov a, c 

copy from C to A
sta 8ff0h

store accumulator direct.

call 0440h

unconditional subroutine call.
hlt


halt.
input:
	8900
	03

	8901
	50

	8902
	60

	8903
	70


output:

	01
	80

	8ff0
	8fef


input:
	8900
	03

	8901
	a0

	8902
	0b

	8903
	bc


output:

	01
	50

	8ff0
	8fef


invalid

4.  Add N 1 byte binary numbers stored from LOC X and N stored at LOC X . Store the result in data/ add field.

xra a


Exclusive OR the contents of the reg with the accumulator.

Mvi b 00h

Store 00 in B.

lhld 8a00 

Load 00 in register L & 8A in register C.
mov c, M

Store contents of memory in register C.
inx h


HL registers is incremented by 1.
up
add m

Add the contents of HL register pair to Accumulator.
jnc next

Jump on no carry to Next.
inr b 


Increment the contents of B by 1.

next
inx h


Increment the contents of HL register by 1.
dcr c


Decrement the contents of C by 1.
jnz up

Jump on no zero to UP.
mov l, A

Move the contents of accumalator to L.

mov h, B

Move contents of B to H.
shld 8fefh

Store the contents of HL register to memory 8FEF.

call 0440h

Call the instruction at memory location 0440H.
hlt


Halt further execution of the program.
INPUT:


OUTPUT:
	8a00
	04
	blk length
	00
	a0
	
	

	8801
	10
	
	8ff0
	8fef
	
	

	8802
	20
	
	
	
	

	8803
	30
	
	
	
	

	8a04
	40
	
	
	
	


5. Subtract 16 bit number stored at LOC X and LOC X+1 from another 16 bit number at LOC Y , LOC Y+1 .Store the result at LOC Z , LOC Z+1 and display the result.
LHLD 8850H

Transfers memory contents to H register pair.
XCHG


Contents of HL pair are exchanged with DE pair.
LHLD
8950H 

Transfers memory contents to HL register pair.
MOV A, L

Store contents of register pair in accumulator.
SUB E

The contents of register E are subtracted from the  Acc.                        
MOV L, A 

Store the contents of A in L.
MOV L, H

Store the contents of H in A.
SBB D


Reg D Contents are subtracted with borrow from Acc.
MOV H,A 

Move contents of accumulator to register H.
SHLD 8A00 H

Store the contents of register HL in memory 8A00H.
SHLD 8FEF H
Store the contents of register HL in 8FEF H.

CALL  0440 H

Call the instruction of memory location 0440 H.
HLT


Halt the execution of the program any further.
Example:
78C2 H - 23F3 H  = 54CF H 
INPUT:
LOC X





LOC Y
	X
	8850
	F3
	
	Y
	8950
	C2

	X+1
	8851
	23
	
	Y+1
	8951
	78


OUTPUT:
	8A00
	CF
	
	54
	CF

	8A01
	54
	
	
	


6. Multiplication of two unsigned bits.
LXI H, 0000 H

Loads 00 in register H and L.
LDA 8850 H 

Loads the Acc. with the contents of mem location  8850.
CPI 00 H

Compare 00 H with the Acc. Contents.
JZ
EXIT 


Jump on zero to exit .

MOV E, A

Store the contents of Acc. in Register E.

LDA 8851 H

Loads the Acc. with the contents of 8851 H location.

CPI 00 H

Compare 00 with Acc. contents.
JZ
EXIT


Jump on zero to exit.

MOV C, A

Store the contents of Acc. in C.

MVI D, 00 H

Move 00 immediately into register D.
LOOP
DAD D

Add the contents of DE Register  pair with contents 




of HL and store in HL register pair.

DCR C


Decrement register C pair by 1.

            JNZ
LOOP


Jump on no zero to Loop.

           EXIT 
SHLD 8FEF

Store the contents of register HL in the memory loc. 8FEF.


CALL 0440 H

Call the instruction at memory location 0440.


HLT


Halt any further execution of the program.
Example :

02 H * 05 H  

INPUT:
	8850
	02

	8851
	05


OUTPUT:
	8FF0
	00

	8fEF
	0A


7. Program to divide a 16 bit number.
LHLD 8A00 H

Transfers memory contents to HL Register.
LDA 8A02 H

Loads the Accumulator with contents of 



8A02.

MOV E, A

Move contents of accumulator to register E.

MVI D 00 H

Move 00 immediately into register D.

LXI B 0000 H

Loads BC register pair with 00.

BACK

MOV A, L

Store the contents of L in accumulator.


SUB E


Subtract the contents of E from Acc.


MOV L, A

Store the contents of accumulator in L.


MOV A, H

Store the contents of H in accumulator.



SBB D


Subtract D with borrow from accumulator.


MOV H, A

Store the accumulator contents in H.
JC

EXIT


Jump on carry to EXIT.


INX B


Increment BC register pair by 1.

JMP 

BACK


Jump unconditionally to BACK.
EXIT

DAD D

Add DE register pair to HL and store result 





in HL pair.



MOV A, L

Move contents of L in A.


STA 8FF1 H 

Store accumulator contents in location 






8FF1.



MOV L, C

Store contents of C in L .


MOV B, H

Store contents of H in B.



SHLD 8FEF H
Store contents of HL pair in 8FEF and 






8FF0.



CALL 044C H

Call the instruction at 044C.


CALL 0440 H

Call the instruction at 0440.



HLT


Halt any further execution of the program.

Example :

0145 H  ÷ 0C H
INPUT:
	8A00
	4F

	8A01
	01

	8A02
	0C


OUTPUT:
	00
	1b

	8ff0
	8fef

	01

	8ff1







REMAINDER




QUOTIENT

8. Write a program to check whether a byte stored at LOC X belongs to 2 out of 5 code.
LDA 8900H
Loads the accumulator with contents of 8900.
MOV B,A
Move contents of accumulator in Register B.
ANI E0 H
And immediate with accumulator.

JNZ

INVALID 
Jump on no zero to invalid .


MOV A, B
Store contents of B in accumulator.


MVI D 00 H
Move 00 into D.


MVI E 05 H
Store 05 in register E.
LOOP

RRC

Rotate accumulator right.

JNC

NEXT

Jump on no carry to next.



INR D

Increment the contents of register D by 1.
NEXT

DCR E

Decrement register E by 1.
JNZ

LOOP

Jump on no zero to loop.


MOV A, D
Store the contents of D in A.



CPI 02 H
Compare immediate  with accumulator. 
JNZ 

INVALID
Jump on no zero to invalid.


MVI A, FF H
Store FF in accumulator.
JMP

DISP

Jump unconditionally to disp.
INVALID
MVI A, 00 H
Store 00 in accumulator.

DISP

STA 8FF1 H
Store accumulator contents in 8FF1.



CALL 044C 
Call instruction at memory location 044C.


HLT

Halts any further execution of the program.

Example:

1. Input : 
8900 03

output :

    8FF1   FF

/*  03 is 2 out of 5 code  */
2. input:

8900 15
output :

8FF1    00

/*  15 is not 2 out of 5 code  */
9. Write a program to convert a binary number to its BCD equivalent.
LDA 8900 H
Stores the contents of 8900 in accumulator.

MOV C, A
Store accumulator contents in register C.

LOOP 

LXI H, 0000
Load HL register pair with 00 00.


CPI  64 H
Compare immediate with accumulator.
JC 

FRWD

Jump on carry to forward.


SUI 64 H
Subtract 64 from accumulator contents.



INR H

Increment register H by 1.
JMP 

LOOP

Jump unconditionally to loop.
FRWD

CPI 0A H
Compare immediate with accumulator.
JC 

FRWD1
Jump on  carry to FRWD1.


SUI 0A  H
Subtract 0A  from accumulator contents.


INR L

Increment register L by 1.


MOV B, A
Store the contents in A in B.

JMP

FRWD

Jump unconditionally to FRWD.

FRWD1
MOV A, L
Store the contents of L in A.


RLC

Rotate accumulator right. 


RLC

Rotate accumulator right.


RLC

Rotate accumulator right.



RLC

Rotate accumulator right.



ADD B

Add contents of B to A.


MOV L, A
Move contents of A to L.


SHLD 8FEF 
Store HL contents in 8FEF & F0.


MOV A, C
Store contents of C in A.


STA 8FF1 H
Loads contents of accumulator in 8FF1.


CALL 0440
Call instruction at 0440.



CALL 044C
Call instruction at 044C.



HLT 

Halts any further execution of the program.

Example :
Input:

8900 0A

Output:

00

10

0A
8FF0
8FEF

8FF1

11. Write a program to convert a BCD number to its binary equivalent.
LDA 8900H

Load Accumulator with contents of 8900H.
MOV B, A

Store contents of Accumulator in B.
ANI 0FH

AND immediate with Accumulator.
MOV C, A

Store the contents of Accumulator in C.
MOV A, B

Store the contents of B in Accumulator.
ANI F0H

AND immediate with Accumulator.
JZ

DN


Jump on zero to DN.
RRC


Rotate Accumulator right.

RRC


Rotate Accumulator right.

RRC


Rotate Accumulator right.

RRC


Rotate Accumulator right.



MOV E, A

Store the contents of Accumulator in E.
XRA A


Exclusive OR the contents register of register.


MVI H 0A

Move immediately 0A to register H.
LOOP

ADD H 

Add contents of H to Accumulator.


DCR E 

Decrement the register E by 1.
JNZ 

LOOP


Jump on no zero to loop.
DN

ADD C 

Add contents of C to Accumulator.


STA 8FF1H

Store contents of Accumulator in 8FF1.


CALL 044CH

Call instruction in 044C.



HLT


Halt any further execution of program. 
EXAMPLE:
1. input 

8900 09
output 
8FF1
09
2. input 
8900 34

output 

8FF1
22

11. Write a program to convert an ASCII number to its Binary equivalent.
LDA 8850H

Loads contents of the Accumulator in 8850.

SUI 30H

Subtract 30 from contents of the Accumulator.



CPI 0AH 

Compare immediate with 0A.

JC

L1


Jump on carry to L1.


SUI 07


Subtract 07 from the contents of Accumulator.
L1

STA 8FF1 H

Loads the Accumulator contents in 8FF1.


CALL UPDDT

Call instruction at memory location 044C.


HLT


Halts any further execution of the program.

Example:
1. Input:

8850 41

Output:
8FF1
0A
2. Input:

8850 39
Output:

8FF1
09

12. Write a program to convert a binary number to its ASCII equivalent and display.


LDA 8850
Loads Accumulator with the contents of 8850.


ANI 0FH
AND immediate with Accumulator.



CPI 0A H
Compare immediate with 0A H.
JC

NEXT

Jump on carry to NEXT.
ADI 07H
Add 07 to Accumulator.
NEXT

ADI 30H
Add 30 to Accumulator.



STA 8FF1
Store the contents of Accumulator in mem. location 8FF1.
CALL UPDDT Call instruction in accumulator to 044C address.
HLT

Halts any further execution of the program.

EXAMPLE:
1. INPUT:
8850 0A

OUTPUT:
8FF1
41

2. Input:
8850 09

Output:

8FF1
39

13. Write a program, to generate a triangular wave using DAC. Display the waveform on CRO and measure the slope.

Theory:
Port address of 8255

Port A
- 40
Port B
- 41

Port C
- 42

Control Word:
	1
	0
	0
	0
	0
	0
	0
	0


	D7
	D6
	D5
	D4
	D3
	D2
	D1
	D0


BSR-0




Port A


Mode


Port B
     
                       Y


X

Slope:  Y/X

MVI A 80
Move immediately 80 into the Accumulator.


OUT 43H
Output data from Accumulator into the port specified.

XRA A

Exclusive OR contents of A with Accumulator.
 LOOP1
OUT 40H
Contents of Accumulator are copied to port A.


INR A 

Increment A by 1.


CPI FF
Compare the contents of Accumulator with FF.
JNZ

LOOP1
Jump on no zero to LOOP1.

LOOP2
OUT 40H
Contents of Accumulator are copied to port A.


DCR A

Decrement A by 1.
JNZ 

LOOP2
Jump on no zero to loop2.

JMP 

LOOP1
Jump unconditionally to Loop1. 
14. Write a program to generate a square wave of given duty cycle using DAC. Display the wave forms on the CRO and verify the same.
For 50% duty cycle 
MVI A80 H

Move immediate 80 to Accumulator 

OUT 43 H

Output data from Accumulator to the control reg.
MVI A00H

Move 00 into Accumulator.
OUT 40H

Output data from Accumulator to port A.
CALL DELAY

Call instruction in accumulator to delay.

MVI A FFH

Move immediate FF to Accumulator.
OUT 40 H

Output data from Accumulator to port A.
CALL DELAY

Call instruction in accumulator to Delay.
JUMP 

UP


Jump unconditionally to up.
DELAY
LXI B 003H

Store 3F in register and 00 in B register.
UP1

DCX B


Decrement BC pair by 1.
MOV A, C

Copy the contents of C in accumulator.
ORA B


OR the contents of accumulator.
JNZ

UP1


Jump in no zero to UP1.
RET


return from sub routine.
Theory:
The count value is calculated as follows:-

Total T states = [10+ (6+4+4) count -3+10]

          =17+24*count.
Frequency of clock out signal of the processor = 3.0724
Total delay = 17+24 * count
Count= (0.5 * 10-3 * 3.072 * 106 - 17) / 24
         = (63.29)10
Count= (63)10= (3F) 16
% Duty cycle = (Ton) / (Ton+ Toff).
14. Write a program to stimulate a throw of dice using interrupts.
MVI A 08 H 

Load 8 bit word into accumulator.
SIM


Set interrupt mask.
EI


Enable interrupts.
UP1

MVI A 01 H

Load 01 immediately into accumulator.

UP

INR A 


Increment the value of contents of accumulator.
CPI 06 H

Compare 06 immediately with accumulator.
JNZ

UP


Jump on no to zero to UP.
JMP 

UP1


Jump unconditionally to UP1.

JMP 

8850


Jump unconditionally to address location.


PUSH PSW

Push onto stack.


STA 8FF1 H

Store contents of Acc. in 8FF1 address location.
CALL UPDDT

Call instruction at UPDDT.
POP PSW

Pop it from stack.

EI 


Enable interrupt.
RET


Return from subroutine unconditionally.
15. Write a program to implement a moving display of a given string of digits on display.
MVI A 80 H 

Load 80 into accumulator.
OUT 43 H 

Output data from accumulator to control register.

L3

LXI H 8900  

Load 00 in H and 89 in L register.
MVI B 04 H

Move immediately 09 to register B.
L2

MVI C, 08

Move 08 to register C.
MOV A, M

Move contents of memory to accumulator.
INX H 


Increment contents of register B by 1.
L1

RLC


Rotate accumulator left.
MOV E, A

Move the contents of A to A.
OUT 41 H 

Output data from accumulator to port B.
MVI A 01 H

Move 01 to accumulator.
OUT 42 H

Out put data from accumulator to port C.
DCR A


Decrement contents A by one.
OUT 42

Out put data from accumulator to port C.

MOV A, E 

Move the contents of register E to A.
DCR C


Decrement the contents of register C by one.

JNZ L1




Jump on non zero to L1.
CALL DELAY 

Call instructions in accumulator to DELAY.
CALL DELAY 

Call instructions in accumulator to DELAY.

DCR B 

Decrement B by one.
JNZ L2




Jump on non zero to L2.
JMP
L3



Jump to L3.
DELAY
LXI D FF FF

Load FF in D and E.
BACK

DCX D


Decrement DE pair.
MOV A, E



Move contents of E to A.
ORA D


OR the contents of D with accumulator.
16. Write a program to interface a 4*4 keyboard Matrix and display the code if key pressed.
MVI A 90 
Move 90 to accumulator .
OUT 43
output data from accu,mulator to control register.
START 
MVI A 07
Move 07 to Accumulator .
OUT 42
Output data from accumulator to Port C.
WAIT 

IN 40 

Input data from accumulator to port A.
CPI 00

Compaer 00 with contents of acckumulator .
JZ 
WAIT

Jump o zero to wait.
MVI B 00

Move 00 to register  B.
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